FORMATIVE ASSESSMENT -1 (A.P) & 7A
| CCE MODEL |

1. Integers.
I, Fractons, Dechnals and Katbonal Mumbers

Time : 45 Mins.

Froject Wark | Creative Froblems
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2xd=4&M

ature be lowered from 40°C at
m temperature 10 hours after the

I. Solve the following problems :

1. A certain freezing process requires t
the rate of 5°C every hour. What will be the

process begins ? \
2 Express 10 cmin MEQW
II. Solve th i blem : 1=x4=646M
3. A) ator descend s into a mine shaft at the rate of 6§ metres per minute, If the
dec tarts from 10 m above the ground level, how long will it take to
reach — 330 m?

(OR)
) Aruna and Radhastart their jonrmey from two different places A and E. Aruna
choose the path from A to B then to C, while Radha choose the path romE to D
¢ thentoC Find who travelled more and by how much?
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